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Extension
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Potential energy, kinetic energy
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=	weight	(
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See the examples on page 113.





since weight  =  mass  (  g  (see p. 67)


(N)		(kg)	(N/kg)


	g  =  10	here on Earth





Kinetic energy	=	� EMBED Equation.3  ���	 (	mass	(	speed squared
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Questions


For each question show all your working clearly.


1.	A diver, of mass 40 kg, climbs up to a diving�platform 1.25 m high.


What is his weight, in N?


What is his change in PE?


Where does this energy come from?


He walks off the platform and falls down.�What is his KE as he hits the water?


What is his speed as he hits the water?


2.	The same diver now climbs to the 5 m�platform, four times as high.


What is his change in PE now?


What is his speed as he hits the water?


What do you notice about this answer?


3.	Another diver, of mass 80 kg, climbs to the�5 m platform.


What is her speed as she hits the water?


What do you notice about your answer?


4.	A stone is dropped from a window 5 m high.�At what speed does it hit the ground?


5.	A tennis player hits a ball vertically with a�speed of 10 m/s.�How high does it go?


6.	A car of mass 600 kg is travelling at 10 m/s.�When the brakes are applied, it comes to rest�in 10 m.�What is the average force exerted by the brakes?


7.	A car of mass 800 kg is at rest.�The engine exerts a resultant force of 2000 N�for a distance of 5 m.


What is then its KE?


What is then its speed? 
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